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Tasks 5.4 and 5.5 

Should be in Chapter 6. 

Task 8.1(a) 

Should say October (not December) 

Task 5.2 

General admin total should say 714,186 (not 714,176) although this 

doesn’t affect the final answers. 

Task 10.1 

The semi-variable workings should say: 

Semi-variable cost   7,500   £18,450 

     3,000   £  9,450 
     4,500       9,000 

    Variable cost = £9,000 / 4,500 = £2 per batch 

Although the final answers are correct. 

BPP Practice Assessment 2 Task 1c 

The final two options should say 

 
 EOQ = 

2ch

d
 

  
EOQ = 

2c

hd
 

BPP Practice Assessment 2 Task 4 

There is a rounding error in the Heat and Light row.  

 Total 
£ 

A 
£ 

B 
£ 

Stores 
£ 

Canteen 
£ 

Heat and light  4,000  1,600  1,067  533  800 

Total  127,500  35,200  16,780  25,790  49,730 

     29,934  

Stores   17,960  11,974   (29,934)  _______ 

   82,169  45,331         –        – 

 


